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Ms. Schimidt - B Intermediate Algebra

Final Review #5

Circles

Identify the radius and center of the circle given the equation. ’ ,
D (x=2)"+(y+4)? =25 ) (x+3)2+(y-1r=4

= (94) =5 C= (-2,
e

Hx+1)r+(y+8)2=16 H(x-5>2+@y-2?*=9
C-(-),-8) €4 C :(s,9)
3

5) Write the equation of the circle when the radius is 2 and the center is (—1,3).

(xn»'\)“-%g-?i)’““‘:al

‘ 6) Write the equation of the circle when the radius is 3 and the center is (2,—5).

(x-8)4(y15) =4

7) Write the equation of the circle when the radius is 7 and the center is (=2, -1).

(%+3)%9 (ys D7 4G

8) Write an equation of a circle whose center is (2,5) and has the point (—7, —1) on the circle.

,_ N\
(x-3) "4 (9“53 =10

9) Write an equation of a circle whose center is (14,17) and has the point (15,17) on the circle.

® (-1 (Y 7yz |
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Quadrilaterals

10) In the dccompanying diagram of parallelogram ABCD, if mZA = (2x+ 10) and m£B = 3x, Find the
number of

’\g’;grccs in all angles (il'llz.ipumllclogrum. 4 ¢
Ao —_— l(.) " e \
Axt10 Y Q1013 x<180

/d(5dIN0  D(F4) 50180
WaTve Sx=170

%(/3: - 3¢ - -;Ig K&*%D:‘V& L= 24

H)In rectangle ABCD, diagonal AC = 3x + 15 and diagonal BD = 4x — 5. Find the length of AC.

Ac: As)ns \ '5"}15—’_'1-;){5 o
@ T s s x-S

RO= 4 «
X=s

12) The image below is a rhombus. Solve for value of x.

2X-+13 5)( fq' ;8 X]’B
Sx+Y Ax = G
X=3

13) In square ABCD, angle ¢ is 5x + 15. Solve for x.
5x15=90
Sk 2SS
X5

14) In parallelogram ABCD,m < A = 4x —20andm < C = 9x — 50. Find the value of <A.

A/\yﬁJ 4x-80 = x-S0

| a0 = 5SX-50
D C  Hl)-a0 . "
%/_}: L)’ 6(:*5)( x_@

is thombus DEFG. Using the diagram solve for angle F.

E Byrll =S 2-9

15) In the diagram

W= &xX~9
A= ax O
’ g X=/0
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- Mixed Review

/
\/ 16):;\1\;2131- g;rbi cznn:m(;cling the square: byx?+4x+1=0
B \2gx= -2 Kovx
(X-4)*=-3 +b (a7l
G gl
(-2 - 274 SR
X = 44\ BEAE

17) Solve each inequality for all values of x. Express solution on a number line and use interval

Z)Ota?fi;nl 3<x+14 b) =5(x —2) = x + 28
X-3< 14 ~sxnpzxrdf
X <17 O 2 ox vk
) o
g/ D> -\4 2 X

U
[ -4 2K
( -9 !7) X &= 5
5—:@——_ >
18) Simplify: 3
a) b) V500 c) —8x77 - 3x®
NE -a4 A
ax
o7
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19) Determine if the following relations are functions:
a) b) e
Ay S S —
T T T i [ ‘
RN J.Q""“ N =y
ST, [ L e e
: ] B s — S Y
Jl 14 .-q\
—1 ! 4 1 I I
- L T B .
}~ B o
{ 1 |
1 ;//
F'_"__V

=

o 000 uachY)

20) State the domain of each of the following:
{(1,-2), (-2, 0), (-1, 2), (1, 3)}

a) b)
N Y i
%l/ -, -1 lg TNIILr
-} |0 b

(- .50, o)
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